Adda247)

Previous Year Paper

BDL MT (Mechanical)

09 Dec, 2023



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda27]

Question No. 1
The second numeral in the ORS system of specifying the cutting tool signature gives the-
A)Auxiliary cutting angle B)Orthogonal rake angle
C)Side relief angle D)Inclination angle
HfeEar g Reaaw A fafdse Fx arelt ORS worrelt 3F qwr 3= &ar g1
A)TETIF FIcaT BT HIOT B)3iteifanaer Y& T
C)arss Relw ahroT D)gIehta ahroT
Answer Key : B Your Response : C (Wrong)
Question No. 2

If the mean of the sequence 18, 22, x, 20 and 25 is 20 and is equal to the mean of the sequence
2x, 3x, 12, 7 and 6, then find the value of x.

A)18 B)10

C)20 D)15

afe Igsha 18, 22, x, 20 3R 25 F1 AT 20 ¢ IR IAqHA 2x, 3x, 12, 7 3R 6 & AT F TN
g, a x &1 A AT F

A)18 B)10
C)20 D)15
Answer Key : D Your Response : D (Correct)

Question No. 3
A surface that completely absorbs ALL incident radiation is called a-
A)Grey body B)White body
C)Mirror D)Blackbody

ag |ae S @ mufaa AR & ot e @ @nfla &= Ad &, Far Feardr 22

A)3r S8 B)cgise aisr
AR D)selsh arar
Answer Key : D Your Response : D (Correct)

Question No. 4
A scleroscope is generally used in the determination of-
A)lIndentation hardness B)Scratch hardness
C)None of the options D)Rebound hardness

TFAVERIT FT 3941971 3H o W fFad @aRoer §F fear smar 82
A)EIOT-HBRCT B)&hT FORAT
C)RAFedl & & AS A& D) EIGERIETI G
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Answer Key : D Your Response : D (Correct)

Question No. 5
Self-locating of cylindrical work is better achieved, in fixture design, by-

A)Three locator pins B)Four locator pins

C)Two locator pins D)Vee blocks

fheax fB3amse #, F @I dIHR F FT FG-¥A fA4iRor dgav o § rea BFar Smar
gl

AR drereY W=t B)aR @ltehe U=t

C)ar cirehex =t D)dY selient

Answer Key : D Your Response : B (Wrong)

Question No. 6

Necking occurs immediately after the in the stress-strain curve of ductile steel.
A)Ultimate strength point B)AIl of the options

C)Yield point D)Fracture point

a1 ¥ & wfaea-fAgfa aw # & qid dg AR (AEFFUa) g 2

A)TR#A TS fig B)fasedt & & msi

Cydes fiig D)fsier fiig

Answer Key : A Your Response : A (Correct)

Question No. 7
If the coefficient of restitution is equal to 1, the collision is characterized as-

A)Perfectly elastic B)AIl of the options

C)lnelastic D)Perfectly inelastic

3R YcgaEqTA s 1 & SUN ¢, dl §ag &I & ¥ # S S 21
A)ToTaaT Jeamer B)fasreut & & @l

C)3T9caTEy D)quTdT 3cAEY

Answer Key : A Your Response : A (Correct)

Question No. 8
Which of the following is an impulse-type turbine?
A)Both Kaplan and Francis turbines B)Kaplan turbine
C)Pelton wheel D)Francis turbine

faafafaa & @ <l 91 & IPAIT-YFR HT @B 82

A)Faea 3R wIfT Esa ger B)&Telld cX&TSaT
C)dece grel D)wifad eXaTg
Answer Key : C Your Response : A (Wrong)

Question No. 9
Kirchhoff's Law states that for all bodies at thermodynamic equilibrium, the ratio of emissivity to
absorptivity, for a particular wavelength and temperature, is equal to-
A)Zero B)Infinity
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C)Between zero and one D)One

mmﬁaﬂm%ﬁ:mﬁqmwmﬂﬁm%m,wﬁa‘r«rm’waafsm

dgAT & fAT Scastar 3R AGAWOT T 9T, F SrEY giar gl
AT B) 37T

C)Y=¥ 3R T & &g D)us

Answer Key : D Your Response : D (Correct)

Question No. 10
The emissivity of a grey body is-
A)Between zero and one B)One
C)Zero D)Infinity

g s A scusiwar fraar 22

AT IR TH & " B)Ts%
C) D)3felel
Answer Key : A Your Response : A (Correct)

Question No. 11
Which of the following implies that energy can be converted from one form to another with the
interaction of heat, work and internal energy, but it cannot be created nor destroyed?
A)Third Law of Thermodynamics B)Second Law of Thermodynamics
C)Zeroth Law of Thermodynamics D)First Law of Thermodynamics

ffaf@ad & @ fFasr arcad ag € & Fsan, s 31 3aRs Faf A e fFar @ 39t # &
T & g v 7 afiafcta fFar ar a@ar 8, JAfFa 3@ 7 ar sarr a1 aFar € 3R T & ase fFar

AT GhaT 872

A)FSHARTIART T I s B)FsARIIAH! T gfada fas
C)FSHATIICRT &I eal foias D)FsATIAST HT 9aH fFge
Answer Key : D Your Response : D (Correct)

Question No. 12
Rockwell's scale is generally used in the measurement of-
A)Scratch hardness B)Dynamic hardness

C)Indentation hardness D)Rebound hardness

Udhdd THd & TANT HEEG: Ha A9 d fFar srar €2

A)ERTT FHORAT B)arfareliel shoRdr
C)eRoT-haReT D)9fa&IT FHoRdr
Answer Key : C Your Response : C (Correct)

Question No. 13
Generally, in the hole basis system, the-
A)Lower deviation of the shaft is zero B)Upper deviation of the hole is zero
C)Upper deviation of the shaft is zero D)Lower deviation of the hole is zero
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gl 3MgR 9ommelY 3 9T:-

A)TeE T el e o= Bl B)glel & I fawrelel =d ¢l
C)mFe &l FT faarelel = & D)gler & el faerelet A= ¢l
Answer Key : D Your Response : C (Wrong)

Question No. 14
The effectiveness relation of which of the following types of heat exchanger is given by the
relation
{1 - exp[-NTU (1+c)]} / {1+c} ?

(Where ¢ = capacity ratio;

NTU = measure of effectiveness of heat exchanger)

A)Both parallel and counter flows B)None of the options
C)Parallel-flow D)Counter-flow

frafaf@a & @ fra vo & a1 ffsaasat 1 wemahaar @9a o 99 qamn fear srar 2
{1 - exp[-NTU (1+c)]} / {1+c}?

(STET ¢ = &HAT AT,

NTU = 3var Rafaaasat &1 gsmadiiadar &1 Am)

A)FATATR 3R FIE3-YAE et B)fashedt & & IS sIgr
C)HATHAIAR-aTE D)e&hT3eX-9arg
Answer Key : C Your Response : D (Wrong)

Question No. 15

Rheopectic fluids are those whose apparent viscosity with time under a constant shear
rate.

A)Becomes zero B)Remains constant

C)Increases D)Decreases

fadfFes X 3 @1d & o Fose 2 F=ar v FE AR &@X & ded ¥#T & 91y el
AT &1 STl B) R gdr

C)sgdr D)aedr

Answer Key : C Your Response : D (Wrong)

Question No. 16

If the Reynolds number is 4200, the fluid flow can be characterized as-

A)Turbulent B)Laminar

C)Transitional D)AII of the options

gfy YATesw T@&AT 4200 &, aY ga vdrg &I & &7 # gutar o wwhar g1
A)faegser B)fAaR

C)HshaUTeRTelleT D)fgweat & & @l

Answer Key : A Your Response : A (Correct)

Question No. 17
It is NOT recommended to use sine bars for measuring angles greater than-
A)6° B)3°
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C)10° D)45°

? 93 FUll FT AGA & FAC AT TR FT YA FA T IAAAT A 1 S

A)6° B)3°
C)10° D)45°
Answer Key : D Your Response : D (Correct)

uestion No. 18

In , the working temperature is generally below 450 °C.
A)Soldering B)Fusion welding
C)AIl of the options D)Brazing

#, frarlier argATT 9= 450 °C € &H gxdr g1

A)dresiar B)wgatet afesar
C)fasredt & & @i D)sifSter
Answer Key : A Your Response : B (Wrong)

Question No. 19
When a mass is constrained to translational motion in the direction of the X axis so that its
change of position is described only by the value of a single quantity x, it exhibits-

A)Two degrees of freedom B)Three degrees of freedom

C)Single degree of freedom D)Six degrees of freedom

S TRl g & X e A feur A FaEeaReiy afgd & fav arex fhar Smar & arfs sadhr
Rafa # aftads Fad e amr x & 7@ @ afvta &), o a8 Far geiia sar &2

A)Eadadr @ g Fife B)Tadadr &1 di Hife

C)¥adadl HI Thel HITC D)¥adadr &l B HIC

Answer Key : C Your Response : D (Wrong)

Question No. 20
The Charpy impact test uses-
A)U-notched specimens only B)Both V-notched and U-notched specimens
C)V-notched specimens only D)Neither V-notched nor U-notched specimens

TRAY gHTT qdeqor fFasr 39Aer HIdar 22

A)FHad U-AlheR e B)V-aAlheR 3R U-dAleheR =A#=A gt
C)ahdel V-aAleheR s D)eT @ V-alehegR 3R o € U-aAleheR =efet
Answer Key : B Your Response : A (Wrong)

Question No. 21

The grades of tolerances used in sand casting process are-

A)IT 12 B)IT8to IT 11
C)T5t0IT7 D)IT 150 IT 16
¥d @ar$ gfhar # ggFd afgsopar & ds el

AT 12 B)IT 8 & IT 11
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OIT5aIT7 DT 15 & IT 16
Answer Key : D Your Response : C (Wrong)

Question No. 22

At whirling speed, a rotating shaft typically exhibits excessive vibrations.
A)Both longitudinal and transverse B)Transverse

C)Longitudinal D)Neither longitudinal nor transverse

g @ afd W, & gA e arre JEGR W AatE &9 yefdd #ar g1
AT 3R oY At B)3re]9Ed

C)3ried D) @ et 3R o & ey

Answer Key : B Your Response : B (Correct)

Question No. 23
If two objects collide and stick together after collision, the collision is characterized as-
A)None of the options B)Perfectly inelastic
C)Elastic D)Perfectly elastic

afe Y aEq¥ earddt € 3R THUA F At 39w A Ruw St &, O Ig caRIE FAT Fgardt 22

A)faedt 7 & 1S AL B)qofera 3rvcarey
C)acarey D)gofear yearey
Answer Key : B Your Response : A (Wrong)

uestion No. 24
Which of the following generally has the highest head capacity?
A)Francis turbine B)Pelton wheel

C)Kaplan turbine D)Both Kaplan and Francis turbines

fafaf@a & @ fFad 83 FR/E 37 ak W w9 30 g 22

A)SHITRE TXaTST B)Ucee el
C)FIellel &S D)&ud 3R Wifd Es grer
Answer Key : B Your Response : A (Wrong)

Question No. 25
A governor is said to be if the speed of the engine fluctuates continuously above and
below the mean speed.

A)Stable B)Hunting

C)In equilibrium D)At rest

T&h Iy HI Fgl Jar & Y Sorer 1 aifa #Arew a1fg @ 3R 3R Y AR IaR-"eE
FCdr Tl §1

AR B)gfear

C)uder # D)faRrer &

Answer Key : B Your Response : B (Correct)

Question No. 26
Which of the following is an example of a Newtonian fluid?
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A)Toothpaste
C)Water

B)Cheese
D)Butter

ferfafad & @ sl @ ~gRfaga ave fr wh 3erer 87
B)dIST (cheese)
D)#HTFE

A)guaEe

C)dr=ir

Answer Key : C

Whatis the solution of the equation

A)
-2X
—+cex“ +d
C)
—4x
—  t+ex'+d
d*y
dx*
A)
-2X
—+cex” +d
C)
—4x

e
— _t+ex'+d
4

Answer Key : B

The value of the the universal gas constant, in joules per kelvin per mole, is-

A)1.678
C)2.367

wrdatias dw Ris #1 aE, Jda gfa Ffeaa gfa @ra & fraar gem?

A)1.678

Your Response : C (Correct)

uestion No. 27

_'7\-

——tex+d
4

Your Response : B (Correct)

Question No. 28

B)15.368
D)8.314

B)15.368

GET IT ON
Google Play
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C)2.367 D)8.314

Answer Key : D Your Response : C (Wrong)

uestion No. 29

EDM is a/an type of non-traditional machining.

A)Chemical B)Thermal

C)Mechanical D)Electrochemical

EDM t& YhR &1 IR-9RaRE A== g1

ARraafAs B) 2ot

C)ais D)fdegd i

Answer Key : B Your Response : D (Wrong)

Question No. 30
If T = torque or twisting moment;
J = polar moment of inertia;
S = shear stress at outer fibre;
R = radius of the shaft;
G = modulus of rigidity;
0 = angle of twist; and
L = length of the shaft, then
the Torsion equation is generally given by-
A)(T/L) = (GB/R) = (SNJ) B)(T/L) = (GBNJ) = (S/R)
C)(TN) = (GOIL) = (S/R) D)(T/R) = (GB/J) = (S/L)

gfe T = i ar cfafeear ande;

J = Sigca F1 gd g gt

S = 9l WISE W IHYFYYT d«rd;

R = awe &1 B3,

G = HoRdTl &I HAMIIS;

0 = cfare &1 For; 3R

L = are Y d9rs &, ar

ciete gAEor 3 dk W fFes qanr fear Jmar 82

A)(T/L) = (GO/R) = (SIJ) B)(T/L) = (G6N) = (S/R)
C)(T/) = (Ge/L) = (S/R) D)(T/R) = (G6/J) = (S/L)
Answer Key: C Your Response : C (Correct)

Question No. 31
The axial deflection of a closed coiled helical spring is given by-

(where n = number of active coils;

F = axial force;

D = mean diameter of coil;

G = modulus of rigidity; and

d = diameter of spring wire)

A)(64d%n) / (GFD*) B)(8FD3n) / (Gd*)
C)(64d*n) / (GFD?) D)(64D3n) / (Gd*)
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s dg Fefaa edlwd By & el fgger e qarr far smar @2

(Set n = afeg Fsa A d&m;
F = & a«;

D = &igd &I ATET I,

G = HORdT &I AYTH; 3R

d = Y arR T 3m9)

A)(64d3n) / (GFD?) B)(8FD3n) / (Gd*)
C)(64d*n) / (GFD?) D)(64D3n) / (Gd*)
Answer Key : B Your Response : B (Correct)

Question No. 32
What is the value of E(f(x))?
A)f(x+h) B)f(x-h)
C)f(x+nh) D)f(x+h) - f(x)

E(f(x)) =T AT &1 22

A)f(x+h) B)f(x-h)
C)f(x+nh) D)f(x+h) - f(x)
Answer Key : A Your Response : D (Wrong)

Question No. 33
For regenerators,
Cmin/Cmax is equal to-

(where Cpin is the minimum fluid capacity rate and

Cmax is the maximum fluid capacity rate)

A)Infinity B)Zero
C)None of the options D)1
foRed & fav,

Cmin/Cmax fU® sT&X giar &2

(BT Cpin vIAGH a¥d &HAT & ¢ 3K
CmaxITHdAH aXel &HAT T &)

A)3ieict B)=
C)Rsedl & & IS &Y D)1
Answer Key : D Your Response : C (Wrong)

Question No. 34
One mole of any substance contains elementary entities and this number is known as
Avogadro's number.
A)4.022 x 1033 B)6.022 x 103
C)4.022 x 103 D)6.022 x 10%3
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fFaY ot ggrt & s A TafAF sHsAr aidl & 3R W AT H EhnEY dEAr &
T #H AT AT 21

A)4.022 x 1033 B)6.022 x 103

C)4.022 x 10'3 D)6.022 x 1023

Answer Key : D Your Response : D (Correct)

Question No. 35
When the angle of contact of the bearing with the journal is 360°, then the bearing is termed as

the-
A)Partial journal bearing B)Wedge film bearing
C)Double partial journal bearing D)Full journal bearing

I S & Q1T AN FT T9h o1 360° giar &, af SANT F FAT Fgr ATdr 22

A)INRAF Foiel FIRT B)asT fhed safer
C)zael 3RS et FART D)ot Steter safar
Answer Key : D Your Response : D (Correct)

Question No. 36
In the measurement of surface roughness, the square root of the mean of the squares of the
ordinates of a surface measured from a mean line is called the-
A)Neither Centre Line Average Value nor Root Mean B)Centre Line Average Value (R;)
Square Value
C)Both Centre Line Average Value and Root Mean D)Root Mean Square Value (hymys)
Square Value

dde & Gialua @1 A9 A, Th Ay 3@ @ A S Fag B fE F q@t F oAy & qEiHT H®

___ gl ar gl

AT ar Fg @ AT A AR T @ Hqa AT F9 B)Fhe Y@r Hd AT (R,)
HTeT

C)dg Y@ 3iad A 3R Fqe AT o AT gt D)HeT ATET o1 AT (hims)

Answer Key : D Your Response : D (Correct)

Question No. 37

A Reynolds number of 1800 indicates flow.

A)Laminar B)Transitional

C)Turbulent D)There will be no fluid flow

Yetesd @&ar 1800 gdrg &I gutdr g1

A)dfAAR B)HshHUTRTGIST

C)faegetr D)l ool JaTg wTgT

Answer Key : A Your Response : B (Wrong)

Question No. 38
In PERT, the minimum amount of time required to complete the project, assuming everything goes
exceptionally well, is termed as-
A)Renew Time Estimate B)Optimistic Time Estimate
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C)Most Likely Time Estimate D)Review Time Estimate

PERTﬁ,qﬂﬁamaﬁq\uaﬂﬁa%ﬁmmewqmm,agmﬂagvﬁﬁmgmm

9 & 3<oT 94 @I 8, &gl Srar g1

A)FAAHARIOT FAT Ylereholsl B)3MRITaTET AT HTereholel
C)usd gHIfad FHY Tareholsl D)HIET THT rareholed

Answer Key : B Your Response : B (Correct)

Question No. 39
Which of the following is an application of Bernoulli's equation?
A)Hydraulic jack B)Hydraulic press
C)Vehicle hydraulic brakes D)Venturi meter

ﬁmﬁﬁaﬁ#aﬁamm*mmwma?

INREEIGERCED B)gTs3ifele 98
C)argA & gIggifelsh sioh Dydgdr #ex
Answer Key : D Your Response : D (Correct)

uestion No. 40
In a one-dimensional inelastic collision, momentum is-

A)Fully conserved B)Completely lost and converted into other forms

C)Not conserved D)Partially only conserved

s faifa svcary Wz #, w@dar el

A)goTd: EXfEa B)q¥ ke & @ orar § 3R 37 O & gRafdda &
IR

CymRfara et D)% 3% ®7 & & WEa

Answer Key : A Your Response : B (Wrong)

Question No. 41
When a one-dimensional perfectly elastic collision takes place, momentum is always-
A)Fully conserved B)Partially only conserved
C)Fully lost D)Partially converted

s v farfy qoia: gy wug @idr @, o |@adar gdar-

A)gofa: wRferd grar gl B)3HfRIeh &7 & & W& W& &l
C)qoid: 7S¢ & e B D)3 w7 & aRafda g
Answer Key : A Your Response : A (Correct)

Question No. 42
A vibrating system influenced by any external resistance to its motion typically undergoes-
A)Undamped vibration B)Neither damped nor undamped vibrations
C)Both damped and undamped vibrations D)Damped vibration

R aredl yfoia @ wanfaa wa &9er yomrell 39eh aifay & faw 3mr ok 9 frad e 22
A)3ASFE HUA B)aT ar S¥vc 3R o & 38T HuT
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C)sFee 3R 3eAsFcc H9d gl D)3FT &usT

Answer Key : D Your Response : D (Correct)

uestion No. 43

The solution of the differential equation i — Xty
& x
satisfying the conditiony(1) =1 is-
A B)
y=logx+x y=xlogx+x
C) D)
y=logx+x° y=logx+x’
an—‘ry(1)=1a:’r$i§vc'anﬁ§:f, srawer weEgor &Y FT ET AT
. & x
FII
A B)
y=logx+x y=xlogx+x
0) D)
y=logx+x° y=logx+x’
Answer Key : B Your Response : B (Correct)

Question No. 44
The whirling speed of a shaft is also known as-

A)Shear stress B)Bending moment

C)Shear force D)Critical speed

AFe & A b AfT B st g1 SITar g1

A)39%qor gfaser B)afeser Ave

C)3T9&qoT St D)wifass a1far

Answer Key : D Your Response : D (Correct)

Question No. 45
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Find the value of Ae™ .

Ae™ &1 AT 7T FL

e[e—Z] e’ [e“—l]

e” [e - l] e™ [e“h - 1]

Answer Key : D Your Response : C (Wrong)

Question No. 46
Which of the following is the dimensional formula of acceleration?
A)MLT2 B)LT
C)ML2T-2 D)LT2

ferfataa & @ sla a1 cavor 1 fadg g7 87

A)MLT2 B)LT
C)ML2T2 D)LT2
Answer Key : D Your Response : B (Wrong)

Question No. 47

The Kaplan turbine is a/an flow turbine.
A)Axial B)Radial
C)Tangential D)Mixed

FYlel IS Th 9dIg elars 21
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A)3eiT B)Xfeaer
C)TaeRd D)fafa
Answer Key : A Your Response : B (Wrong)

Question No. 48
Which of the following oxy-acetylene welding flame types produces the hottest temperatures?
A)Oxidizing flame B)Carburising flame
C)None of the options D)Reducing flame

ot 7 @ sla-dt siFd-Rafedsr dfes &, gad 7 araATT 3cdest S &2

A) 3ftrdiseoT @t B)areRrgiorer it
C)dasedl & & IS AT D)3arae ot
Answer Key : A Your Response : A (Correct)

Question No. 49
Which law of thermodynamics is concerned with the entropy of a system as the temperature
approaches absolute zero?
A)First B)Second
C)Third D)Zeroth

m*iﬂqﬂﬁ@’aﬁwaﬁaﬁmmﬁmmmmmﬁWﬂﬁm

¥4

A)Tggelr B){HTT

C)dreRr D)eral

Answer Key : C Your Response : B (Wrong)

Question No. 50
Which of the following is TRUE?
A)Differentiability implies continuity B)Continuity implies differentiability
C)There is no relation between continuity and D)Differentiability does not imply continuity
differentiability

fafaf@a & @ a9 ar @ 22

A)ITHTATAT HT dcTd ARaRar & Bl B)feRaRdT & dlcqd aehelaiddr & ¢
C)feRaRar 3R aho-iaar & T FIS TEY AL &1 D)dhoi=gar & T AR 187 gl
Answer Key : A Your Response : C (Wrong)

Question No. 51
Flash welding is a type of-

A)Riveting B)Resistance welding
C)Gas welding D)Arc welding

Foter afesar, FT TF YHR 21

A)Rafeat B)wferier afegar
C)dra afesar D)3 afegar

Answer Key : B Your Response : B (Correct)
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Question No. 52
The term 'Pessimistic Time Estimate’ in PERT means the time required to complete
the task, assuming everything thing goes wrong.

A)Average B)Maximum

C)Minimum D)None of the options

PERT # 'faRramardy a8y wiashde aeg &1 34 & & qU &3 & v smaegs LD
¢, ¥F A gU % @9 $© ed g S

A)3Trad B) 3tfisras

C)egicH D)fawedl & & FIS AdT

Answer Key : B Your Response : A (Wrong)

Question No. 53
The damping factor is the ratio between the damping coefficient and the-

A)Shaft diameter B)Number of steps in the shaft diameter
C)Shaft length D)Critical damping coefficient

3o bR, W qoni+ 3R & g &1 U giar gl

A)QTFE aTH B)eme =ary & TTH T HEAT

C)MMoFe ielTs D)fhfeeher STFdar aputieh

Answer Key : D Your Response : D (Correct)

Question No. 54
The actual load divided by the current cross-sectional area rather than the initial area, during a
tensile test, is called-
A)True strain B)True stress
C)Nominal stress D)Engineering stress

degar qd&or & SR, yRfAE 87 & 99 adue FE-FGaehT 89 qEarr Ao arafas s
FI FIAT Fgl AT 2?

A)Z fafa B)z ufdser
C)ATHATT gfderer D)gSifraRer ufaeer
Answer Key : B Your Response : C (Wrong)

Question No. 55
In rotational kinematics, the Right-Hand-Rule can be used to determine-
A)Velocity of light B)Angular momentum only

C)Both angular velocity and angular momentum D)Angular velocity only

goff aifadht 3, a? 17 & foraw (Wse &3 &) &1 39 Far uia &= & fav fFar ar wwar

-4

A)ShTeT ST I9T B)ehad HIofig Haer

C)aiol 39T 3R FIofy Faer gt D)shdel ol qaT

Answer Key : C Your Response : C (Correct)

Question No. 56
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If the moment of the resultant force on a particle is zero during an interval of time, then its
angular momentum will-
A)Gradually increase B)Remain unchanged

C)Exponentially increase D)Gradually decrease

afy et woa siaud & e Rl #or 9v aRomf aa # amaet aFw @, o 3@ Fofw w@de

FAT gem?

A)ER-ER FgaT B)3raRafda @

C)TRETAHIT & § TG D)efR-efX &ream

Answer Key : B Your Response : B (Correct)

Question No. 57
In the stress-strain curve of ductile steel, plastic deformation is first observed after the-
A)Yield point B)AII of the options
C)Ultimate strength point D)Fracture point

d sEurd & yfaea-fAsfa aF #, carffes fAwyor ga@ ggad fFasd T d@r Jrar 82

A)dres fig B)fawedl & & Y
C)ae awed fig D)fastoreT fag
Answer Key : A Your Response : C (Wrong)

Question No. 58
The equilibrium speed of an isochronous governor for all radii of rotation of the balls
within the working range, neglecting friction.
A)ls constant B)Will gradually decrease
C)AIl of the options D)Will gradually increase

F FAFIAS TG B dgere afd, afor H 3qar Q@ g, FRiMA @A F o dAet & ogoia A
st Bsanst & faw I

A)FER g & B)eM-¢fX & g1 Suelr
C)fawedt & & @l D)efR-¢fR et
Answer Key : A Your Response : A (Correct)

Question No. 59
Surface tension has the dimensional formula of-
A)ML2T-3 B)MT-2
C)ML3 D)L2T-!

9SS delra 1 fasfa g +ar 82

A)ML2T3 B)MT-2
C)ML™3 D)L2T-1
Answer Key : B Your Response : Not Answered

Question No. 60
The value of Ao« T from Wien's Law is equal to-
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(where A is the wavelength in meters, and T is the temperature in Kelvin)
A)12.898 x 102 m-K B)14.898 x 1072 m-K
C)2.898 x 1073 m-K D)14.898 x 1073 m-K

fava & AT @ AjaxT T A Fasd aREy giar 82

(STeT A #Hex & @1 et , 3R T fcaa & aua= @)

A)12.898 x 1072 m-K B)14.898 x 1072 m-K
C)2.898 x 1073 m-K D)14.898 x 1073 m-K
Answer Key : C Your Response : B (Wrong)

Question No. 61
In PERT, an 'activity' is generally-
A)Represented by a square B)One which never consumes time

C)One which consumes time D)Represented by a circle

PERT #, us 'sifafafer 3mr ok «X ag adr &-

A)T&F T3 @RT AT AT BT &l B)fore# el @& F1ET oferer B
C)fSmd gHy 9T D)U& Jcdd G@RT GATAT 1T e &
Answer Key : C Your Response : D (Wrong)

Question No. 62
In Bernoulli's equation, the term (pv?)/2 stands for-
A)Pressure energy B)Potential energy per unit volume
C)None of the options D)Kinetic energy per unit volume

Tafell &Y gl |, s (pv2)/2 &1 Fa1 3T &2

A)eaTd Foll B)ufa sh1s 3madsT Hanfad v
C)[aseul H & &S Al D)ufa 3hIS 3T Tfast Fair
Answer Key : D Your Response : C (Wrong)

Question No. 63
The law of thermodynamics is associated with the statement that it is impossible to reach

the absolute zero temperature in a finite number of steps of a process.

A)Zeroth B)First

C)Second D)Third

yAfsafaTw &1 a3 Fya @ 31 @ T 6 aftear & =it i v AT dEar A
9ol [ AGAT aF Ig a1 IHHIAT

AT B)ugelm

C)gar D)creRrT

Answer Key : D Your Response : C (Wrong)

Question No. 64
Hooke's law states that stress is proportional to-
A)Toughness B)Factor of safety
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C)Resilience D)Strain

?wmm%ﬁ:mmmmt?

A)FE e B)H&T FRH
C)wfafeafaca D)fepfar
Answer Key : D Your Response : D (Correct)

Question No. 65

The derivative of a function can be determined as-

A) B)
s 1 S+ f(x) von_ 1 JE+h)—f(x)
0= iy LRI Fo=pn
) D)
) : . x+h)—f(:
f'(~"):,,hi,1_l,_f(.\’/]2:+f('r) 7 (x):lllll%f(wr ll)’ J(x)
et wo &1 Foaew e v i far s g@ar &2
A B)
o 1. SR vl v Jx+h) - f(x)
7= fig FED LD 7= Jim 222
C) D)
s 1 Jx/h)+f(x) von 1e JE+HR)—f(x)
S'(x)= lim = S ()= lim ;
Answer Key : D Your Response : Not Answered

Question No. 66
In the stress-strain curve for ductile materials, the point which corresponds to the maximum value
of stress is the-
A)Ultimate strength B)Elastic limit
C)Yield strength D)Fracture point

mmﬁﬁ%ﬁmm—ﬁaﬁ%wﬁ,wﬁfgﬁm*aﬁmmﬁﬁam?agw
22
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A)TH FHTY B)SeaTey HIAT
Cysfea amed D) foig
Answer Key : A Your Response : A (Correct)

Question No. 67
What type of fit is indicated by H7p6?
A)Interference fit B)Transition fit

C)Loose running fit D)Clearance fit

H7p6 garT fra 9&R &1 fhe gutar Jrar 2

A)STIHT The B)gifaierT fbe
C)&rer &ar & AT fie D)t e
Answer Key : A Your Response : D (Wrong)

Question No. 68
In Taylor's tool-life equation, VT" = C,

'V' represents the-

A)Cutting speed B)Taylor's tool life exponent
C)Empirical constant D)Tool life

TR & 3UHKU-Slastsrd gHlHor Vit = C #, 'V HI gatar 1
A)&Te &r a1fa B)TeR & 3YhIUT-SiIdelehlel HTclieh
C)3eT¥asi=a Ui D)39ehi0T-SHaatshlel

Answer Key : A Your Response : A (Correct)

Question No. 69

Find the characteristic polynomial of 4 — (1) ; 2 \
1 39
A B)
A=t 12 +18t-15 A() = -11F +48t-24
C) D)
A@®) = -8 +25t-9 A(f)=F 13 +31¢-17

arsaﬁwaﬁwagqa AT fifST)

e

Il
ok O
W W -
O

GET IT ON
Google Play
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A(f)=F —12F +181-15 At)=F -11F* +48t—24
C) D)

A@R)=t -8 +25t-9 At)=F —13F +31¢-17
Answer Key : D Your Response : Not Answered

Question No. 70
Pseudoplastic fluids are those in which the apparent viscosity with an increasing

deformation rate.

A)Remains constant B)None of the options

C)Decreases D)Increases

EIcari¥es o gard 3 gid & el Tase arerar dedr fawyor e & @y gl
AR B B)fashedt & & FIg wgr

C)aedr D)sgdr

Answer Key : C Your Response : C (Correct)

Question No. 71
The expansion of CPM in project management is-
A)Crisis Path Measurement B)Centum Path Method
C)Critical Path Method D)Crisis Path Management

WS ydua I CPM &1 qot &7 &r 282

A)FEiET 9T ASRHAT B)decH Ud AYS
C)fhfewrar oty AUZ D)ssfad 9y Hasdie
Answer Key : C Your Response : C (Correct)

uestion No. 72
In the superheated region, steam exists as a single-phase region where temperature and

pressure are-

A)Independent B)Dependent

C)Dependent in some cases D)None of the options

sfaarfa &7 &, a9 vha-awor &7 & w7 7 Algg Of ¢ ST avee 3R gEE gd &l
A)FadT B)3mfaa

C)Fs A A AT D)fdseul & & HS G

Answer Key : A Your Response : D (Wrong)

Question No. 73
In PERT, an 'event’ is-
A)Represented by arrows B)The same as an activity


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda27]

C)Represented by straight lines D)Either the start or completion of an activity
PERT #, u& ‘gear gar g1

A)ART garr fasfa B)Us Ifafafer & T#mT

C)drelr T@T3it ganrT g2 =w D)ar ar fordr arfafafer v greand ar waTTa
Answer Key : D Your Response : A (Wrong)

Question No. 74
In the ASA system of specifying the cutting tool signature, the back rake angle is in the

position among the numerals.

A)Fourth B)Second

C)First D)Third

&féar ¢ fead=x fafdse & i ASA gomrel #, e afa #lor, 3wt & = Eafa #
gidr g1

A)atel B)gmdr

C)ugelr D)eirerdr

Answer Key: C Your Response : B (Wrong)

Question No. 75
The universal (ideal) gas constant is defined as Avogadro's number times-

A)Wien's constant B)Boltzmann's constant

C)Planck's constant D)Faraday's constant

adsifae (3ed) da s #1 smEEnEr fr GEar s & aom & w9 3 uRemRE R
T g

A)dT (Wien's) & TERi® B)slecatdd & &I+

)i & i DR & feRieh

Answer Key : B Your Response : B (Correct)

Question No. 76
For two helical springs connected in series, the equivalent stiffness, k, of the assembly is given
by-

(where k4 = stiffness of spring 1 and

ko = stiffness of spring 2)

Ak =kq + ko B)k = kqko
Ck=kq/ko D)(1/k) = (1/kq) + (1/k2)

f@gar # I3 v A efdswa Rdsw & fav, sdach i AT FRAT (stiffness), k, fFad qarr &
Srdr 872

(STeT kq = B9 1 fir FoRar ¢ 3R

ko = 9T 2 ¥ FaRar g)

Ak = kq + ky B)k = kiky

C)k = kqy / ky D)(1/k) = (1/kq) + (1/ky)
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Answer Key : D Your Response : A (Wrong)

Question No. 77
An 18-4-1 HSS cutting tool generally contains-

A)18% W, 4% Cr, 1% V B)18% Cr, 4% V, 1% W
C)18% V, 4% W, 1% Cr D)18% V, 4% Cr, 1% W
18-4-1 HSS &dsT 39aI0T # 3MH Rk W gar 21

A)18% W, 4% Cr, 1% V B)18% Cr, 4% V, 1% W
C)18% V, 4% W, 1% Cr D)18% V, 4% Cr, 1% W
Answer Key : A Your Response : A (Correct)

Question No. 78
The point on a phase diagram at which the substance becomes indistinguishable between liquid
and gaseous states is termed as the-
A)Critical point B)Melting point
C)Deposition point D)Sublimation point

IEaEdT 3INE W ¢ g o W 9erd e 3R Al sraeamsit & g agsde g srar @, 38 F=2

gl SATdr 82

AFifas &g B)TelT fdig

C)fevgraor foig D)Feddra feig

Answer Key : A Your Response : A (Correct)

Question No. 79
The 'Polar modulus of a shaft section’ is given by-

(where J = polar moment of inertia; and R = radius of the shaft)

A)JR B)J + R
C)J-R D)J/R

'ATFE HAATET HT YT qonid fhad g@rT f&Ar Srdr 82

(STeT J = g SIsca 3mgol; IR R = awe #i B @)

A)JR B)J + R
CM - R D)J/R
Answer Key : D Your Response : D (Correct)

Question No. 80
Which of the following states that the pressure applied at one point to a confined fluid increases
the pressure throughout by the same amount?
A)Einstein's law B)Principle of Relativity

C)Coulomb's Law D)Pascal's law

ffaf@a d @ sl a1 garar & & Rl DiAT e gard & v Ng 9 o@9mar 3 gaa g oaT
# @A AT # g4 dordr 87
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A)3ETeTST FT AT B)dTd&Tdr &1 fAgia
C)gkeid & fas D)dIrEhe 1 faa#
Answer Key : D Your Response : B (Wrong)

Question No. 81
A perfectly elastic collision (one-dimensional) is defined as one in which as a result of
the collision.
A)There is no net loss of kinetic energy B)Kinetic energy is totally converted to internal energy
C)Kinetic energy is partially converted to internal D)Kinetic energy is not conserved

energy

th qul YAy HUE (TH-AEAE) & 3§ duz F §9 A oRen¥a fRar arar @ et @ &

gRomTATaw-
A)TTAST Foll FT Y AHAT el oIl 8 B)aIfdsl FaiT quT & & 3dRe Foll # dRafdda &
S B
C)fast Foil i+ &7 A 3alks Far # gRafdd & D)IIfas FaT WA 8T g
ST &1

Answer Key : A Your Response : A (Correct)
Question No. 82

Diamond has a hardness value of _ in the Mohs scale.

A)Two B)Ten

C)Five D)One

Aed T W R & RN A giar g1

A)er B)gH

C)arr D)Ts

Answer Key : B Your Response : D (Wrong)

Question No. 83
For condensers or boilers, Cnin/Cmax is equal to-

(where Cp,i is the minimum fluid capacity rate; and
Cmax Is the maximum fluid capacity rate)

A)Infinity B)Zero
C)1 D)1

F3aud A1 99t F AT, Cphin/Cmax A+ SET gldT 87

(ST&T Cpnin #IAdHA el &ACT & &; 3R
Cmax 3THdH d¥d &HAT X )

A)3Ta B)
)1 D)1
Answer Key : B Your Response : B (Correct)

Question No. 84
For two helical springs acting in parallel (with both ends connected together), the equivalent
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stiffness, k, of the assembly is given by-

(where k4 = stiffness of spring 1 and

ko = stiffness of spring 2)

Ak =kq + ko B)(1/k) = (1/kq) + (1/kp)
C)k = k1ks D)k = k¢ / ko

AR # $#A F& g Q s Rosw & v @4 sR & @7 3 ge §), 3dae
AT HoRdT, k, FFud qarr & e 22

(STeT kq = F®Uar 1 &Y FaRar (stiffness) 31X
ko = T&991 2 $r FaRar (stiffness) &)

Ak = ki + ky B)(1/k) = (1/kq) + (1/kp)
C)k = kiks D)k = kq / kp
Answer Key : A Your Response : C (Wrong)

Question No. 85
The grades of tolerances indicated by ITO1 to IT4 find application in-
A)Processes such as press working B)Processes such as sheet metal working
C)Production of gauges and plug gauges D)Processes such as casting

ITO1 & IT4 a= sfra eadar A5 &1 39AT fFad fFar Jrar 82

A afder ST gfsharait B)efic #Acar afdher ST fshamait
C)3rst 3R worer ISt & 3cured D)srfEear ST ufshamait
Answer Key : C Your Response : B (Wrong)

Question No. 86
In fixture design, the 3-2-1 principle indicates that the major flat datum resting plane of the work

MUST be located on fixed points.
A)Three B)Five
C)Six D)Four

frraax Barsa A, 3-2-1 Rigla 0T axar @ & s &1 vq@ ¥#ada ser A aa e w9
_ Ty g @ fRya ger anfgu

Ayl B)drar
C)se D)arR
Answer Key : A Your Response : A (Correct)

Question No. 87

The Mohs scale is used to check-

A)Scratch hardness B)Indentation hardness
C)Rebound hardness D)Dynamic hardness
Hlgd T & 3IANT FI Sigst & fav fFar smar 21
A)ERTT HORAT B)&qRuT-haRdr

C)afaiaiT HoRdr D)arfaefier saRar
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Answer Key : A Your Response : D (Wrong)

Question No. 88
For any thermodynamic body, the sum of emissivity, reflectivity and transmittance is always-

A)Infinity B)Between zero and one

C)Zero D)One

Ry Y gafsrenfas Asr & fAv, 3cadsar (cfAfRfd), wads IR aReEweaar (grafada) &
T gAAT fha=r gxar 2

A) 3T B)eeT 3R T & A #

CR D)t

Answer Key : D Your Response : D (Correct)

Question No. 89

A square system 4.X = B of linearequations has a unique solution

if and only if the matrix A is invertible. Then, A(4A7'B) is-

Y@ FAFIOT T T T JUMR AX = B FT TH IEEAT g aT &
I 3 Faar ofe Aftaw As==afesar a1 T, A(L47'B) &

A B)
B AB
C) D)
-1
A A
Answer Key : A Your Response : A (Correct)

Question No. 90
Which of the following utilizes an exothermic chemical reaction to supply the essential heat
energy?
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A)Arc welding B)Thermit welding

C)Resistance welding D)Gas welding

e & @ frud, mawas sl Fat & arqfd s & fav e ssaad aafas afafear s
39ANer fRar Srar 22

A)3H afesaT B)ufde afeser
C)uferier afeser D)3 afeser
Answer Key : B Your Response : B (Correct)

Question No. 91

The the value of NTU, the closer the heat exchanger approaches its thermodynamic
limit.

A)Larger B)Smaller

C)None of the options D)Infinitesimal

NTU &1 & forger g, @ic TFEdoR WU gHfsenfAe dHer & 3aar & i«
ag A

A)SsT B)Brer

C)fasFenl 7 & +1$ gr D)3MTergeH (S-TTthiere [ae)

Answer Key : A Your Response : A (Correct)

Question No. 92
When for every speed within the working range there is only one radius of rotation of the
governor balls at which the governor is in equilibrium, then the governor is termed as-
A)Multidynamic B)Sensitive
C)Stable D)Unstable

Sq FF AT & Ay gAF afd & AT a@edy det & goia fr dad ww Bewr g @, e €W
AGAT Wl A @Iar &, Al G FT FAT FeT AT 872

A)sgetiarsiter B)@dgaAelTer
o) D)3TER
Answer Key : C Your Response : D (Wrong)

Question No. 93

H7k6 is a/an type of fit.

A)Press B)Transition

C)Interference D)Clearance

H7k6 & gFR & fre 21

A)gd B)giforersT

C)FehT D)

Answer Key : B Your Response : A (Wrong)

Question No. 94
When almost equal volumes of Oxygen and Acetylene are mixed in an oxy-acetylene welding

torch, it produces a/an-
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A)Oxidizing flame B)Reducing flame

C)Neutral flame D)Carburising flame

sir-AfAfecdher Afesar <t & o @aer amr # siedea 3R WRAfeNs AT 9 w aw
T F 3cUed HIAT 2

A) 3iterereor ot B)3taamrash ot

C)3erdeT ot D)ereRTsiieT ot

Answer Key : C Your Response : B (Wrong)

Question No. 95

Ultrasonic Machining is a/an type of non-traditional machining.
A)Electrochemical B)Mechanical

C)Chemical D)Thermal

wreafas AT, YHR &1 I-9RuRE AdaT 21

A)fdege et B)Jif3s

C)T I D)ard e

Answer Key : B Your Response : A (Wrong)

Question No. 96
When the damping factor > 1, it is said to be-
A)Critically damped B)Underdamped
C)None of the options D)Overdamped

J9 3qHAfed RS > 1 giar g, ol 38 AT el JATdr g2

A)fhrfeelr SFc3 B)3is8F s
C)dshedt & & HIg =g D)3aRsF<s
Answer Key : D Your Response : B (Wrong)

Question No. 97
The intensity of radiation from a blackbody, defined on the basis of its projected area, is
of the direction of emission.
A)Sometimes dependent B)Dependent
C)Independent D)None of the options

frr vt @ Rfdor f daar, 393 96fRa &7 & R W 9@, scusta A fear

____®l

A)IR FT-Fe AT B)®R AT

C)& Tada D)fgweul &# & S AdT

Answer Key: C Your Response : B (Wrong)

Question No. 98
The spring index of a helical spring is given by-

(where D is the mean coil diameter and d is the wire diameter)
A)d/D B)D/d
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C)D?d D)2Dd

efdme Y &1 Ry g0 feer & @ frad @rr f&ar sirar 22

(STeT D *isd &T ATET =49 ¢ 3R d arR &1 =39 @)

A)d/D B)D/d
C)D%d D)2Dd
Answer Key : B Your Response : B (Correct)

Question No. 99
Which of the following grades of slip gauges is used mainly by the inspection department to
check the accuracy of other gauges?
A)Grade-| B)None of the options
C)Grade-0 D)Grade-ll

forderor f@Amr q@rT 3T AST 1 Fdhwar A ST & AU gET T @ Fag A9 & F@w ds #71
39Ater foRar Smar 22

A3zl B)fawedl & & +Ig AT
C)33-0 D)as- I
Answer Key : C Your Response : D (Wrong)

Question No. 100
In a row of 15 students, when Dora was shifted by three places towards right, she became 4th
from the right end. What was her earlier position from the left end?
A)12 B)9
C)11 D)10

15 aEt ff v 9fFa #, I 3RT die =T @ gIfeel 3R FAEaRa g a1$, af 9 gY BsR ¥ dld
T 9X 3T 5| 910 B8R @ 39 Rodr fafa #ar A2

A)12 B)9
C)11 D)10
Answer Key : B Your Response : D (Wrong)

Question No. 101
Sathish purchased 20 dozen of toys at the rate of Rs.375 per dozen. He sold each one of them at
the rate of Rs.33. What was his percentage profit?
A)4.5% B)5.6%
C)3.5% D)6.5%

gl 3 $.375 9fd ot Y g¥ @ 20 o Qe @l 394 39 @ uds &) .33 fr v @
a911 3GHT gfaad arH FAr AT?

A)4.5% B)5.6%
C)3.5% D)6.5%
Answer Key : B Your Response : D (Wrong)

Question No. 102
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A vendor plans to sell 100 kg tomatoes at Rs.6 per kg so as to make 20% profit. But 20% of the
tomatoes became rotten. Now at what price per kg should he sell the rest of the tomatoes to
make 12% overall profit?

A)Rs.7 B)Rs.6.50

C)Rs.6.75 D)Rs.7.50

Ts faghar & 100 fFal AT ) .6 9fd fhal Y X @ Iga A AT Fa15 arfd 20% 197 gl
ﬁmzo%magmrl3ﬁ12%§am3ﬂ%’raaﬂﬁ¢m3ﬁﬂqmﬁﬁaﬁuﬁﬁﬂnﬁm
Aed W d9-T =fge?

A)T.7 B)%.6.50
C)%.6.75 D)%.7.50
Answer Key : A Your Response : B (Wrong)

Question No. 103
Simplify: (sec?0 - 1) x (cosec?0 - 1).
A)cot*d B)1
C)tan?0 + cot?0 D)tan*

A HY: (sec?0 - 1) x (cosec?0 - 1).

A)cot*d B)1
C)tan8 + cot?0 D)tan*@
Answer Key : B Your Response : A (Wrong)

Question No. 104
A copper sphere of radius 3 cm is beaten and drawn into a wire of diameter 0.2 cm. What will be
the length of the wire?
A)18 m B)48 m
C)24 m D)36 m

3 @ AT & did & e F der Jrar € 3R dEet 0.2 a4 sam & ax d aRatda fear smar
21 39 ar i d«1s FAT e

A)18 #Y B)48 =
C)24 #r D)36 Hr
Answer Key : C Your Response : C (Correct)

Question No. 105
The speed of a boat in still water is 4 km/h. If the time taken to row a certain distance upstream is
3 times the time taken to row the same distance downstream, then find the speed of the stream.
A)2 km/h B)2.5 km/h
C)1.5 km/h D)1 km/h

R st d u a@ & afa 4 fRefeer @1 afE arr & gided v @ARga gt @ s #& oo
AT, URT & 3efhel AW g8l aF HI & 9= arel GAF H1 3 AT ¢, o 9RT AT afd Ard H
A)2 frei/eer B)2.5 fara/ereT

C)1.5 farefi/erer D)1 farafiveer

Answer Key : A Your Response : Not Answered
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Question No. 106
A certain sum of money invested at Compound Interest for 3 years compounded at 5%, 10%, and
20% per annum, respectively, in successive years amounts to Rs.1386. Find the sum.
A)Rs.1000 B)Rs.1150
C)Rs.1500 D)Rs.900

Thdfe SO W 3 auf & fav fody A a1 ve AfRaa afyr waw: 5%, 10% 3R 20% wfa af &
X @ s auf 7§ @Afora glax £.1386 gt 81 ar afr wira dhifow)

A)%.1000 B)%.1150
C)®.1500 D)%.900
Answer Key : A Your Response : Not Answered

Question No. 107
The average price of three items of furniture is Rs.15000. If their prices are in the ratio 3 : 5 : 7,
then find the price of the cheapest item.
A)Rs.21000 B)Rs.18000
C)Rs.9000 D)Rs.15000

Bellay T il avd3l 1 itad AT 2.15000 g1 g by Hraal &1 3qard 3 5 0 7 §, @
e TEd avq A FAd Ad hifse)

A)%.21000 B)%.18000
C)%.9000 D)%.15000
Answer Key : C Your Response : C (Correct)

Question No. 108
Four years ago, the ratio of the ages of A and B was 2 : 1. Four years hence, this ratio will
become 3 : 2. What is the ratio of their present ages?
A)2:5 B)5:2
Ch:4 D)5:3

aR af ggel, A 3R B &I A &1 AU 2 : 1 AT IR a¥ 41€, Ig IA9d 3 : 2 g AT AR
A I FT AT FAT 1?2

A)2 : 5 B)5 : 2
C)s: 4 D)5 :3
Answer Key : D Your Response : C (Wrong)

Question No. 109
A court decided to distribute Rs.4500 among the three brothers Akash, Bhargav and Surya in the
proportion 4 : 3 : 2, respectively. What will be the difference between the amounts of Akash and

Surya?
A)Rs.1500 B)Rs.2000
C)Rs.500 D)Rs.1000

UF JeTdd A el wrsAl ey, dAntd AR gAt A FAA: 4 0 3 1 2 F IHqurd A $.4500 FaRa
w H1 byar fFar srwra 3R gt f afy F g fBFaar siaw g
A)%.1500 B)%.2000
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C)%.500 D)%.1000

Answer Key : D Your Response : D (Correct)

Question No. 110
Two trains 200 m and 150 m long running in opposite direction at 45 km/hr and 60 km/hr meet
each other. In how many seconds will they completely pass each other?
A)10 seconds B)20 seconds
C)12 seconds D)16 seconds

200 #Hex 3t 150 Hrex &t af Yaenfsar faudla fear & 45 fedA/ger 3R 60 fFafl/aer i afa @
Jodl g% tH-gW ¥ et 1 fhad d5s 7 3 @ g@y A ¢ R IR F dA?

A)10 ¥Fs B)20 d%s
C)12 @53 D)16 @3
Answer Key : C Your Response : B (Wrong)

Question No. 111
A certain sum of money amounts to Rs.2420 in two years and Rs.2662 in three years at some
rate of Compound Interest, compounded annually. Find the sum and the rate of interest per

annum.
A)Rs.2000 and 10% B)Rs.2250 and 15%
C)Rs.2500 and 5% D)Rs.1000 and 12%

aiifs &7 & WA, g9hqfg A9 H $& ¥ W 0 ARgd gaifr aF ast 7 $.2420 3k &=
asf & $.2662 g o &1 af ¥ 3k aits sarer i gx AT fifew)

A)%.2000 3R 10% B)%.2250 3R 15%
C)%.2500 31X 5% D)%.1000 3 12%
Answer Key : A Your Response : D (Wrong)

Question No. 112
Find the sum of 25% of 720 and 40% of 1600.
A)749 B)820
C)700 D)652

25% of 720 31X 40% of 1600 1 AT FATd FHifoT]

A)749 B)820
C)700 D)652
Answer Key : B Your Response : B (Correct)

Question No. 113
Evaluate: 12 = {6(4-3)} x3 +4 -6

A)-4 B)5
C)-3 D)4
Aedidhed H: 12 + {6(4 - 3)} x 3 +4 -6

A)-4 B)5

C)-3 D)4
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Answer Key : D Your Response : D (Correct)

Question No. 114
A score of 175 out of 225 is equal to:
A)77.78% B)75%
C)67.76% D)55%

225 # |/ 175 &1 TR fFasd s 82

A)77.78% B)75%
C)67.76% D)55%
Answer Key : A Your Response : B (Wrong)

Question No. 115
Find the value of cosec? 35° - tan? 55°.
A)1/2 B)4/3
C)1 D)3/4

cosec? 35° - tan? 55° &I AT ATd HI|

A)1/2 B)4/3
C)1 D)3/4
Answer Key : C Your Response : A (Wrong)

Question No. 116
Evaluate: (30)2 + 5 x (20)2 — 800 x 6

A)1900 B)1000

C)-1900 D)-1000

HAedida F1: (30)2 + 5 x (20)2 - 800 x 6

A)1900 B)1000

C)-1900 D)-1000

Answer Key : C Your Response : A (Wrong)

Question No. 117
If P and Q worked alone, they can finish a job in 3 and 4 days, respectively. They took up the job
and worked together to complete it. What was the share of wages for P, if the total amount paid
was Rs.2800?
A)Rs.400 B)Rs.1200
C)Rs.1500 D)Rs.1600

FfE P 3R Q 3Fd F1A F1Q@ &, o @ Rl F3 1 owAA: 3 3 4 e g = dwd &) g
HH &1 3H faAT 3R 3@ QU A F A0 @1y FH FA1 IR AGQH F T A FA 3.2800 FT
Sardrel fhar arm an, oY Asiqlr # P 1 fewar Ard w30

A)%.400 B)%.1200
C)%.1500 D)%.1600

Answer Key : D Your Response : Not Answered
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Question No. 118
The average of ten numbers is 7. If each number is multiplied by 12, then find the average of the
new set of numbers.
A)82 B)19
C)84 D)17

| deast @ staa 7 @1 I 9AF dEAr &t 12 @ qon fear Se, o @EAEd & A de @

Jitaa wma hifGw

A)82 B)19

C)84 D)17

Answer Key : C Your Response : B (Wrong)

Question No. 119
The sum of three numbers is 264. If the first number is two times the second and the third number
is one-third of the first, then find the second number.
A)54 B)84
C)72 D)48

et @EAmEih &1 AT 264 1 ARG ggell HEAT Q@A H A I & 3R Al wEAr gl 1 uw-
fogrg &, a9 qull @& Ara &

A)54 B)84
C)72 D)48
Answer Key: C Your Response : C (Correct)

Question No. 120
A man can row with the stream at 10 km/h and against the stream at 5 km/h. Find the man's rate
in still water.
A)5 km/h B)7.5 km/h
C)3.5 km/h D)15 km/h

S afdd arT & 917 10 frd/ger i aifa @ 3 a7 & fAudia 5 fesll/ger i afa @ a9 =ar
FHar g1 R I # ==fFa & arad i e A1a FL

A)5 TRaY/Eer B)7.5 ferefi/erer
C)3.5 feral/eer D)15 ferai/eer
Answer Key : B Your Response : C (Wrong)

Question No. 121

Complete the series.

2.7,-21,-1.5,-0.9, -0.3, (...)

A)0.5 B)0.4
C)0.2 D)0.3
Aoft A g HT|

2.7, -2.1, -1.5, -0.9, -0.3, ()
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A)0.5 B)0.4
C)0.2 D)0.3
Answer Key : D Your Response : D (Correct)

Question No. 122
Complete the series.

P_XW_QXwpq_wpqx_

A)gpxw B)pgww
C)gpwx D)xgqwx
Aoft & g FII

P_XW_Qqxwpq_wpqgx_

A)gpxw B) pgww
C)gpwx D)xgqwx
Answer Key : A Your Response : A (Correct)

Question No. 123
If 'DELHI' is coded as 'CFKIH', what should be the word for the code 'JBMQTS'?
A)BOMBAY B)BHOPAL
C)NAGPUR D)KANPUR

Ife 'DELHI' &Y 'CFKIH' & ®7 & *ifea far aar €, ar s 'UBMQTS' & fQv &9 91 9eq gar
arfge?

A)BOMBAY B)BHOPAL
C)NAGPUR D)KANPUR
Answer Key : D Your Response : D (Correct)

Question No. 124
Find the ODD one out from the given options.
A)Lotus B)Rose
C)Jasmine D)Marigold

faw v fawedt & @ @@ H G|

A)FHHT B)UJ_’FHTSI'
C)T#elr D)dte T Ber
Answer Key : A Your Response : A (Correct)

Question No. 125
Among O, B, F, D and E, each of them is of different weight. D's weight is more than only three
persons. B's weight is more than E and less than F. O is not the lightest person. F is not lighter
than D. O is heavier than B. Who among them is the third heaviest?
A)E B)D
Cc)B D)O
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O, B, F, D 3IRE & & uAF FT a7 -7 &1 D FT ol dhad i <afeFaar @ 31+ 21 B
FT T E QA 310 3R F @ A &1 O U9 gobr ATFd 187 &1 F, D & gedr 161 &1 O, B &
Y g1 3 @ Awr ged Jaridy sl 872

A)E B)D
C)B D)O
Answer Key : D Your Response : D (Correct)

Question No. 126
Read the following question and decide which of the statements is sufficient to answer the
question.

Question:
What is the rank of P from the bottom in a class of 30 students?

Statements:

I. M is third from the top and there are five students between M and P.

Il. The rank of K is fourth from the bottom and there are 17 students between K and P.

A)Statement |l alone is sufficient while statement | B)Either statement | or Il is sufficient to answer the
alone is not sufficient to answer the question question

C)Statement | alone is sufficient while statement Il D)Neither statement | nor Il is sufficient to answer the
alone is not sufficient to answer the question question

fAafaf@a g #1 ud 3t favty o 5 sadd @ *la a1 FUa 929 1 3o} ¢ F fav gaica g1

2T
30 oEt Y vk HEar d D A P FHT TATT FAT 82

S

L M3 A Awr g 31k M 3R P & fig oig aF &1

NLK$frIx AT @ atar g siR K3k PF g 17 a7 &)

AT & 3ok e & T bl FUA || qATcd § B)URA & 3ok & & fow ar aF &yl | a1 &u= |

Siafeh YU | kot gATTT G gl gATeT g

C)UeT FT 3cck &4 & AT 3t FUT | AT § D)NRA FT 3ccR & & U a1 aF T | 3 a1 &
Stafeh et |l 3rher qaic w1T Bl Fu || gafeq &

Answer Key : B Your Response : D (Wrong)

Question No. 127
In this question, a statement is given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:

Two dice rolled simultaneously. The total sum of the numbers on their faces was eight.

Conclusions:
|I. Both dice have an even number on their faces.
Il. Both dice have an odd number on their faces.
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A)Only conclusion Il follows B)Neither conclusion | nor Il follows

C)Only conclusion | follows D)Either conclusion | or |l follows

30 9 #, Th FIA & dIq al fased fqu v §) 39 fased (v) 1 g, S arfds s @ waifs
T @ IHTEOT I &

h el
a?qfﬁwmﬂﬁ:mﬁéﬂmﬁ:mﬁwanﬁm;ﬁ#waﬁmgmmmm

farsay -
. ST 9T & BeSl X TH TEAT ¢
Il. 4T 9rat & Bl W favw d&ar g1

A)ae farssy || 3ERoT HXar gl B)aT ar farssh | 3k a7 & fAswy 1l 3reavor S B
C)hael farsehy | 3fTEROT HLaT § D)ar ar forssh | a1 sy 1| 3ERor T B
Answer Key : D Your Response : C (Wrong)

Question No. 128
Which number will best complete the relationship given below?

12:46 - 18 : ?
A)72 B)74
C)70 D)76

Hle @ FEAr A QU v 9T F gad JeST QA REA?

12 : 46 :: 18 : ?

A)72 B)74
C)70 D)76
Answer Key: C Your Response : C (Correct)

Question No. 129
In a certain code language, 'tom na rod' means 'give me sweet’, 'jo ta rod’' means 'you and me’,
'pot ta noc' means 'you are good’, and 'jo mit noc' means 'good and bad'.
Which of the following represents 'bad’ in that language?

Ajo B)noc
C)mit D)rod
Tt fAf¥aa fewmT &, 'tom na rod' T #AdAd 'give me sweet' §, 'jo ta rod' &I #Adeld 'you and

me' g, 'pot ta noc' T AdAd 'you are good', 3R 'jo mit noc' FT AdAA 'good and bad' &1
frafaf@a & @ sia ar 39 s & 'bad’ #Y gutar €2

A)jo B)noc
C)mit D)rod
Answer Key : C Your Response : B (Wrong)

Question No. 130
Read the following information carefully and answer the question given below.
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Eleven students—Anu, Banu, Chithra, Deepa, Rekha, Indhu, Madhu, Revathi, Rathika, Gayathri
and Janani—are sitting in the first line facing the teacher. Deepa, who is just to the right of Indhu,
is to the left of Chithra at the second place. Anu is second to the left of Rekha who is at one end.
Gayathri is the nearest neighbour of Anu and Banu and is to the right of Madhu at the third place.
Revathi is to the immediate right of Deepa and is at the third place to the left of Rathika.

In the given arrangement, how many people sit between Gayathri and Deepa?
A)One B)More than four
C)Two D)Four

=g S F ea9 @ gé 3 D few 1w 9y2st &1 3cax &1

TR BEN- 3, a, foan, fun, Yan, g, @y, Yad, WF, a3 S geel 9fFa A
g 1 3R 7@ w1F 33 & Qur, AN $9 F A ar? @, A F 9’ IR F g TG W} )OI,
WM & a? @ q@ 84 W ¢, S & 8R W 21 I, 3 3R 9 A wean wsidl @ 3R
et Fe W AY & Q¢ AR @) AaC, dar & S ' § 3R W F ad § Y T@E W)

& 18 cyarar #, A 3R dar & g fead T 48 &2

A)TH B)aR & ST
Cyar D)aR
Answer Key : B Your Response : Not Answered

Question No. 131
In the given series, how many 8's are there which are immediately preceded by a number that is
not divisible by 8 and immediately followed by a number that is divisible by 8?

563248889266588343

A)One B)Four
C)Two D)Three

Q1S H@ar A, W fraat 8 § e S ugd v AW WEAT § Y 8 W@ fawrsw AET # 3R A=
d9c U 0T gEar § S 8 ¥ fawrsw 872

563248889266588343

A)TH B)aR
C)ar D)che
Answer Key : A Your Response : A (Correct)

Question No. 132
Which of the following will best complete the relationship given below?

BUCKET : ACTVBDJLDFSU :: BONUS : ?
A)SUNOB B)ACMNMOTURT
C)ACNPMOTVRT D)ACMNMOTVRT
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frafaf@a # @ la @1 i Qv av J9g S I9d 3=s1 QW FAI?

BUCKET : ACTVBDJLDFSU :: BONUS : ?

A)SUNOB B)ACMNMOTURT
C)ACNPMOTVRT D)ACMNMOTVRT
Answer Key : C Your Response : B (Wrong)

Question No. 133
If north becomes west, east becomes north and so on, then what will northwest become?
A)Southwest B)South
C)Northeast D)East

afg 3car, WREA A sgd Jar §, 9d, 3cal A S Jar g, IR s e F, @ A Sea-uRaw

FIAT dA9M?

A)TaIoT-qiaH B)afaror

C)3ceR-9d D)q&

Answer Key : A Your Response : A (Correct)

Question No. 134
Pointing to a lady in a photograph, Vijay said, "She is the daughter of the father of the sister of
my brother". How is that lady in photograph related to Vijay?
A)Mother B)Wife
C)Daughter D)Sister

Wqﬂammﬁwaﬂmaﬁﬁﬁﬁrmgmﬁmﬁm, "ag AY HI$ AT dgT F Rar dr i @i
welane # gg Afgdar, Q9T @ F3 gafea &2

A)#T B)Ucsir
C)g=r D)sgat
Answer Key : D Your Response : D (Correct)

Question No. 135

Complete the series.

ab, ba, abc, cba, abcd, (...)

A)bacd B)cabd
C)acbd D)dcba

Top
Aoft F g FI1

ab, ba, abc, cba, abcd, (-)

A)bacd B)cabd
C)acbd D)dcba
Answer Key : D Your Response : D (Correct)

Question No. 136
Choose the option which best expresses the meaning of the idiom/phrase given below.
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"Blood on the carpet”
A)Serious disagreement and resultant consequences B)To throw away a soiled carpet
C)To give a carpet a red colour D)To soil the carpet by spilling it with red paint

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Blood on the carpet”

A)Serious disagreement and resultant B)To throw away a soiled carpet
consequences

C)To give a carpet a red colour D)To soil the carpet by spilling it with red paint

Answer Key : A Your Response : D (Wrong)

Question No. 137
Choose from the four options, the word that best substitutes the given phrase.

"To run faster than someone”
A)Outreach B)Runout
C)Aver D)Outrun

Choose from the four options, the word that best substitutes the given phrase.

"To run faster than someone"

A)Outreach B)Runout
C)Aver D)Outrun
Answer Key : D Your Response : Not Answered

Question No. 138
Choose the correct antonym of the given word from the options given below.

COMMENCE
A)lnaugurate B)Initiate
C)Kick off D)Finish

Choose the correct antonym of the given word from the options given below.

COMMENCE
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A)lnaugurate B)Initiate
C)Kick off D)Finish
Answer Key : D Your Response : Not Answered

Question No. 139
Fill in the blank with the most appropriate word which will suit the context of the sentence.

Sanjiv can play cricket both hands.
A)lnto B)With
C)Over D)Onto

Fill in the blank with the most appropriate word which will suit the context of the sentence.

Sanjiv can play cricket both hands.

A)lnto B)With

C)Over D)Onto

Answer Key : B Your Response : Not Answered

Question No. 140
Choose the correct antonym of the given word from the options given below.

INTRICATE
A)Complicated B)Complex
C)Convoluted D)Simple

Choose the correct antonym of the given word from the options given below.

INTRICATE

A)Complicated B)Complex

C)Convoluted D)Simple

Answer Key : D Your Response : Not Answered

Question No. 141
Choose the correct synonym of the given word from the options given below.
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ALTERNATIVE
A)Substitute B)Disadvantage
C)Necessity D)Compulsion

Choose the correct synonym of the given word from the options given below.

ALTERNATIVE

A)Substitute B)Disadvantage
C)Necessity D)Compulsion
Answer Key : A Your Response : Not Answered

Question No. 142

Fill in the blank with the most appropriate word which will suit the context of the sentence.

After having been home-bound for several months, now many people have come to value daily
to work.

A)Remote B)Retinue

C)Commute D)Rote

Fill in the blank with the most appropriate word which will suit the context of the sentence.

After having been home-bound for several months, now many people have come to value

daily to work.

A)Remote B)Retinue

C)Commute D)Rote

Answer Key : C Your Response : Not Answered

Question No. 143
In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of S1
and S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these parts and
choose the proper sequence from the given options.

(S1) Norwegian officials were

(P) Been publicly announced
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(Q) Why the launch caused such a commotion
(R) Because it had

(S) Left baffled as to

(S6) At least a month earlier

A)PQRS B)RPQS
C)QSRP D)SQRP

In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of
S1 and S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these
parts and choose the proper sequence from the given options.

(S1) Norwegian officials were

(P) Been publicly announced

(Q) Why the launch caused such a commotion
(R) Because it had

(S) Left baffled as to

(S6) At least a month earlier

A)PQRS B)RPQS
C)QSRP D)SQRP
Answer Key : D Your Response : Not Answered

Question No. 144
Identify the CORRECTLY spelt word.
A)Eventually B)Astranomy
C)Taxanomy D)Freightened

Identify the CORRECTLY spelt word.

A)Eventually B)Astranomy
C)Taxanomy D)Freightened
Answer Key : A Your Response : Not Answered

Question No. 145
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error (S)"


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda27]

as your answer.

When the professor (P)/ explained the concept, (Q)/ it easily sticked with me. (R)/ No error (S)
AR B)Q
C)p D)S

In the following question, the given sentence has four parts marked P, Q, R and S. Choose
the part of sentence with the error and mark as your answer. If there is no error, mark 'No

error (S)' as your answer.

When the professor (P)/ explained the concept, (Q)/ it easily sticked with me. (R)/ No error
(S)

AR B)Q
C)P D)S
Answer Key : A Your Response : Not Answered

Question No. 146
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error (S)’
as your answer.

What you will think (P)/ if school boys make (Q)/ fun of you? (R)/ No error (S)
A)S B)R
C)P D)Q

In the following question, the given sentence has four parts marked P, Q, R and S. Choose
the part of sentence with the error and mark as your answer. If there is no error, mark 'No

error (S)' as your answer.

What you will think (P)/ if school boys make (Q)/ fun of you? (R)/ No error (S)

A)S B)R
C)P D)Q
Answer Key : C Your Response : Not Answered

Question No. 147
Choose the option which best expresses the meaning of the idiom/phrase given below.

"Play second fiddle to someone”

A)To get second prize in a music competition B)To listen to and watch eagerly and
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carefully
C)To be in a lower rank or power or provide a D)To play the violin a second time

supporting role to someone

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Play second fiddle to someone”
A)To get second prize in a music competition B)To listen to and watch eagerly and
carefully
C)To be in a lower rank or power or provide a D)To play the violin a second time
supporting role to someone

Answer Key : C Your Response : Not Answered

Question No. 148

Choose the correct synonym of the given word from the options given below.

LONESOME
A)Accompanied B)Escorted
C)Desolate D)Mirthful

Choose the correct synonym of the given word from the options given below.

LONESOME

A)Accompanied B)Escorted

C)Desolate D)Mirthful

Answer Key : C Your Response : Not Answered

Question No. 149
Choose the correct alternative which will improve the part of the sentence given in quotes.

We should take up the first item, so let 'we begin this song.’
A)This song begin us B)This song began us
C)No improvement D)Us begin with this song

Choose the correct alternative which will improve the part of the sentence given in quotes.
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We should take up the first item, so let ‘we begin this song.’

A)This song begin us B)This song began us
C)No improvement D)Us begin with this song
Answer Key : D Your Response : Not Answered

Question No. 150
Choose from the four options, the word that best substitutes the given phrase.

"An occasion when the people of a country vote on an important issue”
A)Determination B)Assignation
C)Referendum D)Appointment

Choose from the four options, the word that best substitutes the given phrase.

"An occasion when the people of a country vote on an important issue”
A)Determination B)Assignation
C)Referendum D)Appointment

Answer Key : C Your Response : Not Answered


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




